Model 77/1000FG’

Maximum Rated Flow 9.48 gpm (36 Ipm)
Port Size: 1” NPT

See Page 7 for Individual Model 1000FG
Parts List.

Parts List
Item PartNo. Qty Description
1 1000FG 3 Filter/Separator
2 11076 2 1” Manifold
3 11071 6 Fittings
4 11078 12  3/8” Hex-Bolt
5 11080 12 3/8” Washer-Flat
6 11102 12 3/8” Washer-Lock
7 11079 12  3/8” Hex-Nut
8 18998 1 Triple Bracket

*For @Iisted applications,
order model 77/1000MA.

2125 IN

Parts Diagram

' 53T MM

I 30436
10,250 IN T
265.35 mm I~® ‘\
| K D ;
| % S
\
‘o . D INGET NPT
16,75 1
- T T T TGN
1 .
76" A i 7
HOLES —, i 4.638 IN
N l 7.8 mm
N i ‘:
il Il 1
. \
L RBCOR RBCOR RBCOR i
{ I 77/1000FG TH1000FG 77/1000F G !
I i H
P
[J = ‘

£.300 IN
21082 mm

4

Somer g7 T

11975 IN

Top View

6.625 IN

- 168.27 mm

12.500 IN |

317.50 mm

Side View

Model 79/1000FG*

Maximum Rated Flow 3.16-6.32-9.48 gpm
(12-24-36 Ipm)

Port Size: 1" NPT

*Valve permit servicing under contin-

uous operation. See Page 7 for indi- Lzso N
vidual Model 1000FG Parts List.
Parts List ;
lNLET'A‘_i
Item PartNo. Qty Description
1 1000FG 3 Filter/Separator
2 11076 2 1” Manifold — e -
3 11073 6 Ball Valve Assm. - 2" NPT ;
4 11074 6  Strt.Ftg.- %" NPT =t =i = Rl !
X %"-14 NPSM B ] | s
5 11072 6 Elbow Fitting \\i | |
6 11078 12  3/8” Hex-Bolt 1 I S
7 11080 12 3/8” Washer-Flat ‘ ?
8 11102 12 3/8” Washer-Lock '.7" 7 Innnooore I I I:moooFG I I 79/1000FG l ls.g;sz N‘g
9 11079 12  3/8” Hex-Nut \ | 5 -
10 18998 1  Triple Bracket e ; | B -
I I
Rl » ,/@ ‘ 22,26 N
For @Insted applications, -®
order model 79/1000MA. ourLer- INLET
G S
i | o
= 41

2.000 IN

508 mm!
T
2.750 IN B
ESB5 mm

25.000 IN

|

635.00 mm

Front Section View

Valves shown in closed position.

9

Parts Diagram

Top View

6.625 IN
168.27 mm

12.000 ¥

304.80 mm

Side View



